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Monthly averaged wind velocity by MF radar at Tromsoe for September 2004

North

mean sigma = 17.199

z

o
o

4 8 12 16

20

o

%
=
é

0 4 8 12 16 20 0
mean sigma = 20.481

mean sigma = 24.510

0 4 8 12 16 20

i

S 4
o

0 4 8 12 16 20 0
mean sigma = 22.877

0 4 8 12 16 20 0
mean sigma = 20.477

0 4 8 12 16 20 0
mean sigma = 19.807

0 4 8 12 16 20 0
mean sigma = 17.472

0 4 8 12 16 20 0

o ¢
o

a o
o O

&
S o

a o
o O

[$)]
o O

a o
o O

o

o &
ISH=)

a o
o O

o

o &
S o

a o
o O

a
o o

East

mean sigma = 17.057

R

%

4 8 12 16

n
o
o

mean sigma = 18.228

©
S
>
3
o

mean sigma = 22.685

ot v

2

8 12 16

n
o
o

mean sigma = 23.720

0 4 8 12 16 20 0
mean sigma = 23.953

0 4 8 12 16 20 0
mean sigma = 23.317

0 4 8 12 16 20 0
mean sigma = 20.289

0 4 8 12 16 20 0
mean sigma = 18.136

0 4 8 12 16 20 0

103km

100km

97km

94km

91km

88km

85km

82km



Monthly averaged wind velocity by MF radar at Tromsoe for September 2004
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